
Name:_________________________ Date:___________________

Rewrite vertically and solve.

3,815 + 211 =

Rewrite vertically and solve.

3,381 – 575 =

Rewrite vertically and solve.

649 × 47 =

Rewrite vertically and solve.

70,827 ÷ 7 =

Find the sum.

1
53 1

32+ =

 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - 
-

Name:_________________________ Date:___________________

Rewrite vertically and solve.

5,326 + 646 =

Rewrite vertically and solve.

9,942 – 168 =

Rewrite vertically and solve.

912 × 76 =

Rewrite vertically and solve.

19,551 ÷ 2 =

Find the difference.

2
38 1

54– =
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